
ПИЛА ДЛЯ РЕЗКИ МЯСА HURAKAN HKN-SE/1650M2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 



ПИЛА ДЛЯ РЕЗКИ МЯСА HURAKAN HKN-SE/1650M2 

 

 

Поз Наименование детали 

1 Sawdust container 
2 Rubber feet 
3 Bottom plate 
4 Action wheel 
5 Protect plate 
6 Limited switch set 
7 Pusher 
8 Adjust part 
9 Main body cover 

10 Main body 
11 Driven wheel 
12 Adjust screw 
13 Blade 
14 Blade limited set 
15 Motor 
16 Work table 
17 Blade block 
18 Motor cover 
B1 Magnetic switch 
B2 Adjust screw 
B3 Bakelite handle part 
B4 Net M5 
B5 Screw M5x40 
B6 Cross screw M6x10 
B7 Screw M8x30 
B8 Spring washer 
B9 Washer 

B10 Plug 
B11 Strain relief seal 
B12 Cross screw M5x10 
B13 Start bottom 
B14 Stop bottom 
B15 Emergency stop 
B16 AC contactor 

 

2 


